
20220913 Montagehandleiding vierde fietsgoot All-in One NL-DE-FR-GB  

1 

 

Montagehandleiding vierde fietsgoot Van ’n Bike All-in One 

NL – DE – FR - GB 

 

NL De vierde fietsgoot = Thule Velospace XT Bike adapter Black 

(artikelnummer Thule 938110) 

https://www.thule.com/en-be/bike-rack/towbar-bike-rack-

accessories/thule-velospace-xt-bike-adapter-_-938110 

DE Die vierte Fahrradrinne = Thule Velospace XT Fahrradadapter 
Schwarz (Artikelnummer Thule 938110) 

https://www.thule.com/en-be/bike-rack/towbar-bike-rack-

accessories/thule-velospace-xt-bike-adapter-_-938110 

FR La quatrième gouttière pour vélo = Thule Velospace XT Bike 

adapter Black (numéro d'article Thule 938110) 

https://www.thule.com/en-be/bike-rack/towbar-bike-rack-

accessories/thule-velospace-xt-bike-adapter-_-938110 

GB The fourth bike gutter = Thule Velospace XT Bike adapter Black 

(article number Thule 938110) 

https://www.thule.com/en-be/bike-rack/towbar-bike-rack-
accessories/thule-velospace-xt-bike-adapter-_-938110 

 

 

NL Toebehoren : 2 x bevestigingsbout, 2 x hamerkopbout, 2 x 

borgmoer M6, 2 x afdekkap 

DE Zubehör : 2 x Befestigungsschraube, 2 x Hammerkopfschraube, 2 x 

Kontermutter M6, 2 x Abdeckkappe 

FR Accessoires : 2 x boulon de fixation, 2 x boulon à tête marteau, 2 x 

contre-écrou M6, 2 x capuchon 

GB Accessories : 2 x fixing bolt, 2 x hammer head bolt, 2 x locknut M6, 

2 x cover cap 

 

NL Neem de 2 hamerkopbouten bij de hand. 
DE Nehmen Sie die 2 Hammerkopfschrauben zur Hand. 

FR Prenez les 2 boulons à tête marteau à portée de main. 

GB Take the 2 hammer head bolts to hand. 

 

NL Plaats de hamerkopbouten t.h.v. de achterzijde laatste fietsgoot. 

DE Bringen Sie die Hammerkopfschrauben an der an hinter der letzten 

Fahrradrinne. 

FR Placez les boulons à tête de marteau au l'arrière de la dernière 

gouttière à vélo. 

GB Place the hammer head bolts at the the rear of the last bicycle 

gutter. 

https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110
https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110
https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110
https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110
https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110
https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110
https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110
https://www.thule.com/en-be/bike-rack/towbar-bike-rack-accessories/thule-velospace-xt-bike-adapter-_-938110


20220913 Montagehandleiding vierde fietsgoot All-in One NL-DE-FR-GB  

2 

 

 

NL Dit is het resultaat 

DE Das ist das Ergebnis. 

FR C'est le résultat  

GB This iso the result 

 

NL Neem de bevestigingsbouten bij de hand 

DE Nehmen Sie die Befestigungsschrauben zur Hand 

FR Prenez les boulons de montage à portée de main 

GB Take the mounting bolts to hand 

 

NL Schuif de bevestigingsbouten in de gleuf aan de bovenzijde van de 

horizontale koker 

DE Schieben Sie die Befestigungsschrauben in den Schlitz oben am 

horizontalen Rohr 

FR Faites glisser les boulons de montage dans la fente en haut du tube 

horizontal 

GB Slide the mounting bolts into the slot at the top of the horizontal 

tube 

 

NL Draai de bevestigingsbouten vervolgens met het oog over de 

hamerkoppbouten 

DE Ösen Sie dann die Befestigungsschrauben über die 

Hammerkopfschrauben 

FR Ensuite, œilletez les boulons de montage sur les boulons à tête de 
marteau 

GB Then eyelet the mounting bolts over the hammer head bolts 

 

NL Schuif de bevestigingsbouten verder over de bouten tot tegen de 

fietsgoot 
DE Schieben Sie die Befestigungsbolzen weiter über die Bolzen bis zur 

Fahrradrinne 

FR Faites glisser les boulons de montage plus loin sur les boulons 

jusqu'à ce qu'ils soient contre la gouttière du vélo 

GB Slide the mounting bolts further over the bolts until against the 

bicycle gutter 



20220913 Montagehandleiding vierde fietsgoot All-in One NL-DE-FR-GB  

3 

 

 

NL Draai vervolgens aan met de borgmoeren M6.  Gebruik hiervoor 

sleutel nummer M10. 

DE Schieben Sie die Befestigungsbolzen weiter über die Bolzen bis zur 

Fahrradrinne 

FR Faites glisser les boulons de montage plus loin sur les boulons 

jusqu'à ce qu'ils soient contre la gouttière du vélo 

GB Slide the mounting bolts further over the bolts until against the 

bicycle gutter 

 

NL Plaats tenslotte de afdekkappen. 

DE Setzen Sie abschließend die Abdeckkappen auf 

FR Enfin, placez les caches 

GB Finally, place the cover caps 

 

NL De laatste fietsgoot is nu extra verstevigd om de Thule Velospace 

XT Bike adapter black te bevestigen.  Volg hiervoor de bijgeleverde 

handleiding van Thule. 

DE Die letzte Fahrradrinne ist jetzt extra verstärkt, um den Thule 

Velospace XT Fahrradadapter schwarz zu befestigen. Folgen Sie dazu 

der mitgelieferten Thule Anleitung. 

FR La dernière gouttière de vélo est désormais renforcée pour fixer 

l'adaptateur Thule Velospace XT Bike noir. Suivez le manuel Thule 
fourni pour cela. 

GB The last bicycle gutter is now extra reinforced to attach the Thule 

Velospace XT Bike adapter black. Follow the supplied Thule manual 

for this. 

 

NL De vierde fietsgoot mag max. beladen worden tot 15 kg. 

DE Die vierte Fahrradrinne darf maximal mit 15 kg belastet werden. 

FR La quatrième gouttière pour vélo peut être chargée jusqu'à un 

maximum de 15 kg. 

GB The fourth bicycle gutter may be loaded up to a maximum of 15 

kg. 

 

 

 

 

 

 

 

 

 


